Nissan Navara NP300 D23 KC/DC Md. 2015+2019

1 7 L Renault Alaskan Md. 2017
Mercedes X-Klasse Md. 2017

401 9 Styling bar 60

Styling-Bugel 60

Arceau 60

AssevBLY INSTRUCTION

Montageanleitung ¢ Instructions de montage

60 Minuten

Artikel-Nr:

17L4019 .
17L5019 black steel Revision 7: 22.01.2020 WWww.antec-onlme.qe




N M5(A2): 5,1 Nm
8 M10(A2): 44Nm
5 17 ’\" M10: 50 Nm
8 N ({ M8: 25 Nm

o 17L4019.1

[\

17L4019.2R / 17L4019.3L 9 1714126_R/17L4127_L
2x

(2 .
" —
(4

M10x30; DIN 912 A2 | 2x

M5x20; DIN 933 A2 | 8x

M10x40; DIN 933 Zn 2X

M8x30; DIN 7991 A2 | 4x

MS5; DIN 985 A2 8x

-
|
.‘(

G

/
\

@5,3; DIN 125 A2 | 16x

17L5035_R /17L5036_L 17L5039
9 10,5; DIN 125 Zn 2x
2X
- SW8 16x
‘ SW17 2x

M8x25; DIN 933 Zn 2x

@ 8,4; DIN 9021 Zn 2x

e

17L5133_R/ 17L5134_L
0 2x

0600600000060

e (@ ele6]6

SW 13 2X
Gummi Stopfen 2x
Art.Nr. 0561 116
9 pre-installed
4x
@ 13H5081
: 4x
N

Revision 7: 22.01.2020
page/Seite 2



pre-installed / vormontiert/
ré-installé
’

)

| ")‘ J
\O =
@ \ |

Revision 7: 22.01.2020

page/Seite 3



Step 8

1474 mm

1485 mm

M5(A2):
51 Nm
M10(A2):
44Nm
M10:

= 50 Nm —

Revision 7: 22.01.2020

page/Seite 4



